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Exercise 1: What is the free-space path loss, in dB, at 10 m for
f = 1500 MHz? What is the value of PL(1 km)? 2 - 0 7m
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Exercise 2; Ifthepathlossis90dBat100 mand120dBatd = 1km,
what are n and PL(d, = 1 m)?




Exercise 3: What path would you have to travel if you wanted to
measure the average path loss at a given distance from a particular
transmitter?
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Exercise 4. Compute the median path loss predicted by the Okumura-
Hata model at f = 900MHz, base station and mobile antenna heights
of 30m and 1m respectively, and a distance of 2km.
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